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1. 8 KPI X|&
(1) 218 X7 0|
(THl: B) Had FHI A Y™7 MAU HEg MotAxt
FY22.1Q 748,768 54,589 8,075
FY22.2Q 775,102 58,476 7,792
FY22.3Q 803,672 64,327 9,050
FY22.4Q 833,062 68,379 8,993
FY23.1Q 868,773 79,537 12,016
FY23.2Q 908,631 86,796 12,660
FY23.3Q 958,694 103,666 15,103
FY23.4Q 1,007,054 109,269 16,247
FY24.1Q 1,069,021 123,625 18,328
FY24.2Q 1,115,348 118,230 13,708
Yoy &7/ 22.8% 36.2% 8.3%
e 244 2Q 7|F YET AMATIYX £ YoY 83% QoQ 252% Z. 0|0 €HF MAUE
QoQ 44% . AEFAM 2[YEQ & ZTUE Ish ot 42 MEaH T =
o A 4EEE MY 2%
@ 2¥ ZE2H OHEXT 2@ 7Hd 1, 7IE 2| golt) 7" 3 29
® SS9 +AXE LA CHASKI1HTE, SSG, GO 2 E AHEO| 37}
— TAtS] E81E Monetization &3t
(2) AHEF 27| ¥ HE QA = F0f
A (T A) 24 CMD of|o] T A 7|E} Al
FY23.1Q 10,234 4,259 1,253 - 15,746
FY23.2Q 11,613 4,733 1,628 - 17,974
FY23.3Q 11,985 4,029 1,848 - 17,862
FY23.4Q 11,845 4,422 2,077 - 18,344
FY24.1Q 11,129 4,217 1,936 - 17,282
FY24.2Q 11,715 4,745 2,080 32 18,571
Yoy 37/& 0.9% 0.3% 27.7% n.a 3.3%
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2. Y R(EAhH Q¥ 0]
(Ete): ) Ha QY
FY23.1Q | FY23.2Q | FY23.3Q | FY23.4Q | FY24.1Q | FY24.2Q
2 86 92 9% 94 92 94
CMD 67 69 68 68 66 65
Of| O[T A 16 18 20 19 20 22
AHE 10 7 7 7 9 8
g5 25 25 25 26 25 20
EUBAME=EF 10 15 15 13 13 15
2l /Ao Lt - - - - - 2
7|Et 44 47 48 46 47 50
g A 257 272 279 273 271 277
o 0% 2H 283 MY K& F
e 24 5E YOS O|M X2 OfZfA|, O|ERmYO|M0| 2FSIEH XO|Lt ALY
AL S5t olof w2t MET| ChH| Q34 A= FIt
(249 6T 7|F XO|L} AHERS Q= 6)
3. 92 7|E Top-line &M
(THel: S TERl) FY23 Ht7| FY24 4t7] q4¥E
24 8,601 9,539 10.9%
CMD 7,294 7,669 51%
Ol O] T Al 1,568 2,053 309%
HHE 413 490 18.6%
224 162 373 131.1%
7|ELO 583 610 45%
g Al 18,621 20,734 11.3%
O JIE} DYZ: LHEF XEB/AH(Mate IM), EHE (L2, CPS 45) &
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5. EH =

(1) YZEEHE

H10(E)7l 4 =271

H11(S)7l 2=271%

(THl: HHargl)
(2023.12.31) (2024.6.30)
Xt "
. SXHt 60,727 61,587
g ddadAtdt 9,729 16,803
O = XH = 2,841 1,014
Al oF ot 736 946
7|EtRsa &ALt 43,262 41,523
7|EtR SR 2,020 1,301
K 0 RpAE 2,103 -
=71 QUM KA 36 5
I.H| S X 18,128 13,945
A 7| HF X} 298 257
ALt 523 313
A& B RpAE 2,098 1,657
AR 10,728 7,086
Y$7|1&-3HIMKEEF AL 454 454
7|EtH| 7S a8 AL 580 617
O| A & I M| KAt 3,446 3,560
X o F A 78,855 75,532
=2 XH
[ | 23,175 15,840
O 24 & 496 -
XY = 2,902 -
7|Etrsa 8 4,826 695
TSR 932 833
7|EtRsEM 12,546 12,718
FSSZEM 1,395 1,483
CRAR=RER N 80 111
ILHSES5x 1,364 933
H| RS 2| 251 1,065 786
SEE 2R 144 -
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7|EHH| FEE&FM
F M F A 24,539 16,773
X} =
L.X|6 7| el 2] X|& 54,761 58,690

N =1

7|EtE YA

7|EPE 2 & Ol A A

0420l oz
I1.H| X| 8 x| & (446) 68
I 2 F A 54,315 58,758
FHMAXESA 78,855 75,532
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(Ebe]: Wats)) H 10(F)7I 22| H11(2)71 %21 =zs
(2023.1.1~6.30) (2024.1.1~6.30)

=R B 18,621 20,734 11.3%
IgHlE 16,796 18,292 89%

FAolY(E=4) 1,825 2,441 33.8%

OPM 9.8% 11.8% 2.0%p
=T8T 219 1,004 3585%
=&8Hl& 53 83 56.2%
7|Et=9 17 30 79.2%
7|EHH| & 27 12 -56.3%
NE= e 9 (41) XX 1 2F

HolMH[ XM =0| Y (E4Y) 1,990 3,339 67.8%
B RIMH| & (=) 155 183 18.0%
SHHEYEY 12 (1,684) X Xf 1 2

H7]=0]9] 1,848 1,472 -20.3%
Xuiz|gel 29F HH 1,865 2,147 15.1%
HIX[HEZ| 2| 273 A& (18) (675) XXX =

o OiEM: 243 Ht7| AZA J|FE 20739 e =W 7|EstH ME 7| CHH| 11.3% S7t.
gloj232mzo|M0| HAHY BHIIAOAM NeEof et A jEHE OjA

o JFAUO0|Y: 243 Ht7| A J|E 244420 oS 7|ESIH A &7| CHH| 33.8% S7L
£5|, 2449 2Q 9Z IEH 11139, Yol 1839 0PV 16.5%)2 7|ESIH, 224Xl
g PHe(X] =0 2 =

e HE7|+0]9: 24 EtY| HA J|FE 1689 ZTHAALEAMO| BHAE|0] 14799 BH7|=0|
olg Shd. Ctoh X|HiZ7| Y P& HH7|20|22 215928 7|26iH ME 7] 1879 CHH|




(2 E=MFH =

H10(H)71 4 =271

H11(3)7 2=2721%

(B S (2023.12.31) (2024.6.30)
Xt At
.3 SXHt 56,064 60,938
= s F= e P 9,151 16,334
O = X 2 1,113 906
H O RpAE 736 946
7|EtS &R 43,738 41,494
7| QLM KAt - -
7| EFRFAE 1,327 1,258
||.HI TS Xt 17,245 14,439
L7\ AUEAH 7| E XL 4,147 1,471
%%ixw 306 298
A& R RpAE 1,850 1,509
SR 6,461 6,529
HI|&Y-3HIKZEF ALt 454 454
7|EfZ &ALt 580 617
O| & LM KA 3,446 3,560
A M F A 73,309 75,377
XY
SR 14,207 15,505
7|Eta&5H 607 651
SE| A2 XY 712 685
7| EFS XY 11,419 12,577
S 1,395 1,483
CRAR=RR N 75 109
ILH S5 1,192 933
715U ™ES o 2 102 102
S 43 45
H| 7S 2l A1) 1,048 786
g N F A 15,399 16,437
N
2= 5,553 5,590
7|ElE At 43,232 42,052
O|xZ0[YdAdol= 9,125 11,299
i 2 F A 57,910 58,940
T AXE2SAH 73,309 75,377
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